1. How Did Alfo Make A Quart Of Juice From Three Oranges?

ANSWER:

99-7-20-18-25-18-7-99-14-15-7-25-38-45-6-6-5-6
2. What Do You Get When The Post Office Burns Down?

ANSWER:

18-24-18-25-6-13-42-41-16-18-24-35-84-18-99-16
3. What Do Gorillas Sleep On In Fruit Orchards?

ANSWER:

18-72-27-99-24-13-7-25

Simplify any expression below and find your answer in the code. Each time the answer
il appears, write the |etter of that expression above it. Keep working and you will decode
i the three answers.
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2+ [48 = (12 + 4)] =
I3x2[4+(9+3)]=

79 . (29+7>:

®5+[4:32+1)]=
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